CANDIDATE ADVERTISEMENT AGREEMENT FORM

Media Dis hereby request station time as follows:

See Order for proposed schedule and charges. See Invoice for actual schedule and charges.

The state of the same of the s	DERAL CANDIDATE
haartmanu	TE OR LOCAL CANDIDATE
ALL QUESTIONS/BLOC	KS MUST BE COMPLETED
Candidate name:	
Win Corporter	
Authorized committee:	
Crapenhere 4 BOD.	Dest 3
Agency requesting time (and contact information):	
Agency requesting time (and contact information):	C. Zupana
Candidate's political party:	
Kepubl, en	(H
Unice sought (no accomms or abbreviations).	
Deta of alaction	of Superior Dor Dist 3
Date of election: 3-6-24	General Primary
Treasurer of candidate's authorized committee:	
Lynda Kont	The state of the s
The undersigned represents that:	
(1) the payment for the broadcast time requested has been ful	michael bu Cabada ann barria
the candidate listed above who is a legally qualified ca	indicate or
the authorized committee of the legally qualified candi	date listed shows
(2) this station is authorized to announce the time as paid for b	
(3) this station has disclosed its political advertising political in	duding applicable classes and rates discours managing
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISC IN THE PLACEMENT OF ADVERTISING.	RIMINATION ON THE BASIS OF RACE OR ETHNICITY
/	KSHA Ke VISON Emiologoods 3/4/24
Candidate/Committee/Agency	Station Representative
Signature:	Signature: Muve 4
- Lander	
Name: Chars Europe	Name: Migula Fitzmager
Date of Request to Purchase Ad Time:	Date of Station Agreement to Sell Time: 1/18/2024

Endovel Conditions		
for a duration of at least four seconds a the candidate approved the broadcast	he broadcast matter to be aired pursuant (2) contains a clearly identifiable photogrand a simultaneously displayed printed stated and that the candidate and/or the candidates a personal audio statement by the candidate has approved the broadcast.	tement identifying the candidate, that
Candidate/Authorized Committee		
Signature:		
Name:	talling to the same and the sam	native to the second second to the second se
Date:	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	The section of the se
To	O BE COMPLETED BY STATION C	NIY
Ad submitted to Station?		
-	rms for each version of the ad (i.e., for	
Berne Court of Manager of Control of the Control of		orony da with amening copy).
Federal candidate certification signed (a	bove): Yes No	N/A
Disposition: Accepted PART (e.g., ad copy Rejected – provide reason:) I'M CAMPENTUR FOI y not yet received to determine sponsor IE	2 District 3 2024
*Upload partially accepted form, then pr	omptly upload updated final form when c	omplete.
Date and nature of follow-ups, if any (e.g	., insufficient sponsor ID tag):	
Contract #: 200743	Station CallLetters:	Date Received/Requested:
Est. #:	Station Location:	Run Start and End Dates: 35/2024
purchased or attach separately. If station	affic system print-out) or other documents ime purchased, when spots actually aired, will not upload the actual times spots aired information immediately should be placed	the rates charged and the classes of time

Stephens Media Group 3360 Alta Mesa Drive Redding, California 96002 Phone: (530) 226-9500



MEDIA PLUS PO BOX 494460

REDDING, CA 96049-4460

Advertiser:

WIN CARPENTER 2723009582524

Order #: Contract #: Date Entered:

200743

Last Modified:

01/18/2024 03/04/2024

Product:

Salesperson:

House Redding House

Billing Cycle: Estimate #: Calendar Month

Order Date Range: 03/01/2024 through 03/05/2024 (1 weeks)
Media Outlets: KQMS-AM, KRDG-FM, KSHA-FM

On-A	ir Schedule														
#		ation	Time/Program	Len	Мо	Tu	Ne	Th	Fr	Sa	Su	S/W	Rate	Otv	Total
1	03/01/24-03/01/24 KC	QMS-AM	06:00AM-07:00PM	60					8			8	25.00	8	200.00
2	03/04/24-03/05/24 KC	QMS-AM	06:00AM-07:00PM	60	10	10						20	25.00	20	500.00
3	03/01/24-03/01/24 KP	RDG-FM	06:00AM-07:00PM	30					8			8	10.00	8	80.00
4	03/04/24-03/04/24 KP	RDG-FM	06:00AM-07:00PM	30	10							10	10.00	10	100.00
5	03/01/24-03/01/24 KS	HA-FM	06:00AM-07:00PM	30					8			8	15.00	8	120.00
6	03/04/24-03/04/24 KS	HA-FM	06:00AM-07:00PM	30	10							10	15.00	10	150.00
8	03/05/24-03/05/24 KR copy change	RDG-FM	06:00AM-07:00PM	60		5	***					5	12.00	5	60.00
9	03/05/24-03/05/24 KS copy change	HA-FM	06:00AM-07:00PM	60	-	6						6	20.00	6	120.00
10	03/05/24-03/05/24 KS copy change mgs	SHA-FM	06:00AM-07:00PM	60		4						4	0.00	4	0.00
11	03/05/24-03/05/24 KR copy change mgs	RDG-FM	06:00AM-07:00PM	60		4						4	0.00	4	0.00
12	03/05/24-03/05/24 KR copy change	DG-FM	06:00AM-07:00PM	30		4		100	-			4	10.00	4	40.00
13	03/05/24-03/05/24 KS	HA-FM	06:00AM-07:00PM	30		2			(77)			2	15.00	2	30.00

Station Totals

copy change

Station	On-Air CountDigital	Count	Web Count Othe	r Count	Gross BillingC	Commission	Net Billing
KQMS-AM	28	0	0	0	\$700.00	\$105.00	\$595.00
KRDG-FM	31	0	0	0	\$280.00	\$42.00	\$238.00
KSHA-FM	30	0	0	0	\$420.00	\$63.00	\$357.00
Totals	89	0	0	0	\$1,400.00	\$210.00	\$1,190.00

Total Charges: Agency Commission: \$1,400.00

Total Net:

\$210.00 \$1,190.00

DUE UPON RECEIPT

Projected Billing By Calendar Month Month

Month	Year	Gross Billing	Net Billing
March	2024	\$1,400.00	\$1,190.00
Totals		\$1,400.00	\$1,190.00

Accepted for Stephens Media Group

Accepted for advertiser OR agency as agent for the advertiser

Name

Title

Name

Title



MARCH '24

KSHA

SUN	MON	TUES	WED	THURS	FRI	SAT
					1	2
					8,	
3	4	5	6	7	8	9
	10~	10%				
10	11	12	13	14	15	16
	:					
17	18	19	20	21	22	23
24	25	26	27	28	29	30
			naye			
	10	3 4 10 11 17 18	3 4 5 10 11 12 17 18 19	3 4 5 6 10 10 11 12 13 17 18 19 20	3 4 5 6 7 10 11 12 13 14 17 18 19 20 21	3 4 5 6 7 8 10 11 12 13 14 15 17 18 19 20 21 22

CLIENT:	WIN CARPENTER	1511071	:30
A 1X	INSTRUCTIONS	LENGTH:	20
B 1X	6 a.m 7 p.m.	FREQUENCY: .	<u> </u>
C 1X	rotate	RATE:	15.00
	WIN - 1 - 24 R	TOTAL: -	2 HZO
D 1X	WIN - 2 - 24 R	CO-OP;	
E 1X	WIN - 3 - 24 R		

CANDIDATE ADVERTISEMENT AGREEMENT FORM

See Order for ampaced and a land	THE PARTY OF THE P
proposed schedule and charge	es. See Invoice for actual schedule and charges.
1. Media Plus	haraba sa
	hereby request station time as follows:
IDENTIFY CANDIDATE TYPE	PACTO A S PA BALLON AND ADMINISTRATION ADMINISTRATION AND ADMINISTRATION AND ADMINISTRATION AND ADMINISTRATION AND ADMINISTRATION AND ADMINISTRATION ADMINISTRATION A
IDENTIFY CANDIDATE TYPE	DERAL CANDIDATE
3.15	ATE OR LOCAL CANDIDATE
The second second second second	
ALL QUESTIONS/BLOG	CKS MUST BE COMPLETED
Candidate name:	
Win Corporter	
Authorized committee:	
Acceptor reconnections simple for the BOS.	- 12
Agency requesting time (and contact information):	12.57 3
Agency requesting time (and contact information):	12
Constituted we had a	C. Culdand
Candidate's political party:	1
Kepublician	1
LAIRCE SOURINT ING SEKONIANO OF SCHOOL STATE OF	
Date of election:	of Supercison Dist 3
Date of election: 3-6-24	General Primary
	Trimary
Treasurer of candidate's authorized committee:	
Lynda Kent	
The undersigned represents that:	
(1) the payment for the broadcast time requested has been fu	mished by (check one how helper)
the candidate listed above who is a legally qualified candidate listed above who is a legally qualified candidate.	indidate or
the authorized committee of the legally qualified cand	idata listari abrasa
(2) this station is authorized to announce the time as paid for i	and an analysis of the state of
(3) this station has disclosed its political advertising policies, in and other sales practices.	Dy such person or entity; and
and other sales practices.	cluding applicable classes and rates, discount, promotion
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISC IN THE PLACEMENT OF ADVERTISING.	PRINIPAL ALIA
IN THE PLACEMENT OF ADVERTISING.	AND THE BASIS OF RACE OR ETHNICITY
K	RDG REVISION & Make goods 3/4/24
Candidate/Committee/Agency	Station Representative
Signature:	Signature: Move 4
The second will be seen to the second with the second will be seen to the second with the second will be second with the sec	
Name: 7	
CAMPS E arrest	Name: Maguis Fitzmajer
Date of Request to Purchase Ad Time:	Date of Station Agreement to Sell Time: 1/18/2024
	Greating to Set time: ///8/2024

Federal Candidate Certification		
The undersigned hereby certifies the to an opposing candidate or, if it does for a duration of at least four second the candidate approved the broadcast or if radio programming.	at the broadcast matter to be aired pures, (2) contains a clearly identifiable ph ls and a simultaneously displayed print	rsuant to this disclosure either (1) does not refer otograph or similar image of the candidate ed statement identifying the candidate, that candidate's authorized committee paid for the y the candidate that identifies the candidate, t.
Candidate/Authorized Committe		
Signature:		
Name:	AND THE RESIDENCE OF THE PARTY	THE RESERVE OF THE PROPERTY OF
Date:	THE RESERVE OF A SECTION OF THE SECT	THE REPORT TO LONG A REAL OFFICE AND ADDRESS OF THE ASSETS AS THE THE PROPERTY OF THE PROPERTY
	TO BE COMPLETED BY STATIO	
Ad submitted to Station?		ceived: 2/2-2 ⁻⁷ 2-82-4
		e., for every ad with differing copy).
The state of the s	the state of the s	e., for every ad with differing copy).
Federal candidate certification signed	(above): Yes	No N/A
Disposition: Accepted 8048 + W Accepted IN PART (e.g., ad co Rejected – provide reason: *Upload partially accepted form, then	opy not yet received to determine spo	
Date and nature of follow-ups, if any (e	to the samples of the sign and the samples of the sample of the samples of the samples of the samples of the samples of the sample of the samples of the sample of the sa	· · · · · · · · · · · · · · · · · · ·
Contract #: 218743	Station Call Letters:	Date Received/Requested:
Est. #: / U/A/	Station Location:	Run Start and End Dates:
ourchased or attach separately if statio	was will not unless the spots actually	ments reflecting this transaction to the OPIF or aired, the rates charged and the classes of time its aired until an invoice is generated, the name placed in the "Terms and Disclosures" folder in

Stephens Media Group 3360 Alta Mesa Drive Redding, California 96002 Phone: (530) 226-9500



MEDIA PLUS PO BOX 494460 REDDING, CA 96049-4460

Advertiser: Order #: Contract #:

WIN CARPENTER 2723009582524

200743 Date Entered: Last Modified:

01/18/2024 03/04/2024

Product:

Salesperson: Billing Cycle:

House Redding House Calendar Month

Estimate #:

Order Date Range: 03/01/2024 through 03/05/2024 (1 weeks) Media Outlets: KQMS-AM, KRDG-FM, KSHA-FM

n-Ai	ir Schedule														
#	Dates	Station	Time/Program	Len	Мо	Tu	We	Th	Fr	Sa	Su	S/W	Rate	Oty	Total
1	03/01/24-03/01/24	KQMS-AM	06:00AM-07:00F	PM 60					8			8	25.00	8	200.00
2	03/04/24-03/05/24	KQMS-AM	06:00AM-07:00F	PM 60	10	10						20	25.00	20	500.00
3	03/01/24-03/01/24	KRDG-FM	06:00AM-07:00F	PM 30					8			8	10.00	8	80.00
4	03/04/24-03/04/24	KRDG-FM	06:00AM-07:00F	PM 30	10							10	10.00	10	100.00
5	03/01/24-03/01/24	KSHA-FM	06:00AM-07:00F	PM 30					8			8	15.00	8	120.00
6	03/04/24-03/04/24		06:00AM-07:00F	PM 30	10							10	15.00	10	150.00
8	03/05/24-03/05/24 copy change	KRDG-FM	06:00AM-07:00F	PM 60		5	-		-			5	12.00	5	60.00
9	03/05/24-03/05/24 copy change	KSHA-FM	06:00AM-07:00F	PM 60		6			1000			6	20.00	6	120.00
10	03/05/24-03/05/24 copy change mgs	KSHA-FM	06:00AM-07:00F	PM 60		4						4	0.00	4	0.00
11	03/05/24-03/05/24 copy change mgs	KRDG-FM	06:00AM-07:00F	PM 60		4						4	0.00	4	0.00
12	03/05/24-03/05/24 copy change	KRDG-FM	06:00AM-07:00P	PM 30		4						4	10.00	4	40.00
13	03/05/24-03/05/24 copy change	KSHA-FM	06:00AM-07:00P	PM 30		2						2	15.00	2	30.00
tatio	on Totals														
Sta	ition	On-Air Co	untDigital Count	Web C	ount	Oth	er	Cou	nt	G	ross	Billin	gCommi	ssion	Net Billing
KQI	MS-AM		28 0		0	-			0	-		\$700.0			\$595.00
KRI	DG-FM		31 0		0				0			\$280.0		2.00	\$238.00
KSF	HA-FM		30 0		0				0			\$420.0		3.00	\$357.00
Tot	als		89 0		0				0			400.0			\$1,190.00
									ı	lge		Comn	harges: nission: tal Net:		\$1,400.00 \$210.00 \$1,190.00

DUE UPON RECEIPT

Projected Billing By Calendar Month Month								
Month	Year	Gross Billing	Net Billing					
March	2024	\$1,400.00	\$1,190.00					
Totals		\$1,400.00	\$1,190.00					

Accepted for Stephens Media Group

Accepted for advertiser OR agency as agent for the advertiser

Name

Title

Name

Title



MARCH '24

KRDG

SUN	MON	TUES	WED	THURS	FRI	SAT
		Tr.			1	2
					8,0	
3	4	5	6	7	8	9
	10 %	104				
10	11	12	13	14	15	16
All						
17	18	19	20	21	22	23
	:					
24	25	26	27	28	29	30
31						

CLIENT:	WIN CARPENTER	ITNOTE	:30
4.13	INSTRUCTIONS	LENGTH:	
A 1X	6 a.m 7 p.m.	FREQUENCY: _	200
B 1X		RATE:	10.00
C 1X	rotate	**************************************	4 780
D 1X	WIN - 1 - 24 R	TOTAL: —	
UIX	WIN - 2 - 24 R	CO-OP:	
E 1X	WIN - 3 - 24 R		